Oooooooda)

$=1:200
ERERN
\ BN
\
N0.13
50.69
\
\
\
\ 00000 (0 00)L=68700

00000 0DO00=62.5 5.9

\i\/“\\\ H
17 /)
\‘
— ¥ ( .
| 51.86 o
. 51.22  ® i [
1 — 5.0 /-
j

00000 (0 00)L=68700 iﬁl
7,7,5773,.@,7,\ 8850 10000 10000 10000 10000 10000 9850 A we—
= £ = £ = £ i ) ™)
L\ = S 4 |5 s S E e > © 070.00
« 59 @ 59 Y 59 «
1 ) " " 1) 1)
\'}b L - Yz |+ - - - /
\\@ o o o L@ o o o /
O O ) O O O
NN O O ‘ =] O O O /_/
| O O 'o \ O O O 0, A/
R \ | D62.50 WL
2 ‘ ‘
N
g o\ O | | / 8
< o O ' ! S S
3 ‘ ‘ 3
g g ¢ Ve | | g3 g o
g 9 ‘ \W ,,,7,7,7,7,,,,7,7,7,7,F,,E5@+J,@D,l@l@ﬂi,i,i,,,,i,7,7,7,,,,7/_/ N 9 B
L |
e | | 0O00hmOoO00e700 oy
o - \3 ! 0 49.65 5/ =
(=] o a Q)
DL=50.00 5 v o\ | g L/ B
DL=50.00 - Mnsw 1 g |
49.09 1 ~[149.00 = B [ 49.00
‘ ooo d
| oooBoog2m
0 50000 3800
2000 1350_{50 55800 500_1350_1200
1000 1000 1000 1000 00000|0000000000000000
ooooo 00000000
ooooo|  1:200 ‘ oooo ‘ 21

ooooooooooooao




oooooo

ooooaoao
H=1100

ooooog
18N/mm2

DL=50.00

0000 H=1800

1500,

ooo

000000@ 700

8448
| 9100
0oooo
oooooo oo oo ooo
u] ys KN/m3 19.0
Hot 0o0ooao 0] ° @) 30.0
ooooo oooooooo yc KN/m3 23.0
0ooOoooooo oo u O 0.7
oooooo oooooooo kh u] 0.12
ooooooo ooooooo q KN/m2 600

O00o000o0dd)

5=1:100
oooooooao
goood
@@
Ao
\‘,'PQ/ ~ -
072.5 e ___ >
~
~
-
P ~
)_3/0/
-
~
~
~

13500
12000

120!

gogno oao

20

ooooooaaa 4 ¢

D29 L=1000 @300

[10D13
L=12000

000 cr300

ood

0000000Vvue 40 =20
L=500 000 Cr300

0oo00000wWe 40 =20

oooo

oooooooon

D29 L=1000 @300 go0o0oOoooooOooooooo

jgoooo00ooOooOoO0o0oO0o0oO0Ooobooo

ooooao 0oo0ooooDoeE)

ooooo

1:100 ‘DDDD ‘ 2-2

ooooooooooooao




ooo0o ooaog

~

~ 00GET

0009

L5
[158.50
[0 54.00
[ 49.00

1:100

S=

68700

gog
0oooooooooL

Joodooon

M 0007 0057
ALY N T
0nc-ce-y -
e
- I Q ‘ \
oommm ﬁ/‘

~

S8 ve-d

1500L,

G9°¢ge-d

97|1000] 120

§97ce-d
S8 TE-d
0e"1e-y
“0e-d
0€™0e-d
§0"62-d
0878¢-d

<
]
553

6

|

|

7]
[s2)
<

/
1

24

254

1l"l¢c-d

!
1500_]103

[Z79¢-d

00°ST-d

26266

007G-d

055.00 000PO0000O0

[150.00
[149.00
ooo

[162.50

A

T
NP
|

1

007G-1

Yo
ﬁ,

25304

007GT-1

00°52-1
03 - TOETST

[y 9¢-1
007Z¢-1 — 9077221

60

0S78¢-1

000]_1440_|633116

05761
9070E-1
G870e-1

9
210 560

90°TE-T

G8°TE-1
957¢e-1

wET 2 A

o
&
\

29Q |710/79!

90-"$£=7

R §87€E-1
SETVE-T

oS 3
g 007 0057 005

00GET

250, 11500,

T

A
|

\
[158.50
[154.00
0 49.00

\. T OUOmodod

DL=50.00

oooo ‘ 2-3

oooooooao
ooooooooooooao

1:100

jgoooo00ooOooOoO0o0oO0o0oO0Ooobooo

ooooao
ooooa




DDDDDDDD(DS

L-32.56
0o 0o
03 1864
[162.50
= v\ 7 . ™
i o\ o [o
N A YA
[159.92
2548
noo [ooo [o o] ooo
oo | oDo | w 8.6
0000 | 000 | w 2.5
noco [1svme| m [] 1.3 2.6
1-31.85
0o 0o
12 258 . s
) - o
N~| (e 0 ™ 8
b= o A |
N l()) ‘\/'
[158.50
3400
noo [ooo [o o] ooo
oo | 0oo | w 12.0
0000 | 000 | w 3.4
noco [1svme| m [f] 1.6 3.2

=1:100
gogd
L-31.06 1-29.50
oo (-30.85 0o 0o 0o
[62.50 [162.50
600 2
'C:_ =)
X S 2027
o v ™
5 ° i
w <11 58.50
J g
0|
3400
5 .
8 o
[N}
[154.00
oo [ooo [oo] ooo
ooo ooo m2 5.8 6100
D000 | 000 | m 3.4
poco [1swmme| m2 [f] 05[] 0.9
oo [ooo [oo] ooo
oo |[ooo [ w 38.6
0Doo0 | 000 | m 6.1
ooco [1swvm2] me [ 5.1 10.3
L-30.06 L-28.50
oo oo 0o oo
[062.50 [162.50
1653 3307
3 % g 1360 2720
9 ol d
g - 0 o & S
i ‘'© o ~ N5 &
< ‘o ~
[158.87 = IS ™
S o) S}
o) PR ~
4980
[154.00
‘ 6100 |
boo [ooo [oo] ooo oo [ooo [oo] ooo
oo | ooo | m 2.7 000 | ooo | m 24.2
0000|000 | m 5.0 0Doo0 | 0oo | w 6.1
ooco [1swvmme] m |2 3.4[] 6.8 Doco |1swvm2| m2 [] 2.3[] a6

1-27.06
0o oo
[62.50
2320 4640
7 . IS
G \g Q
i ‘5\ g
g Y
o0 o S
ol ) ~
[49.20
8980
oo [ooo [oo] ooo
oo | ooo | m 62.2
nDooo | ooo | m 9.0
noco [1swvme| me 2] 6.7][13.5
00000|0000000000000000
ooooo 00000000
00000 1:100 ‘DDDD‘ 2-4
D00O0D0DD0OO0O0000D




DDDDDDDD(Z)S

L-27.00
oo L-26.47 oo
[162.50
2400 4800
Aa| o
o ¢ 5
~ \kst e
g ®
S =) o
o "0 o~
[049.00
9100
ooo |ooo ool ooo
000 | 000 | w 65.4
U000 | 000 | w 9.1
noco [1avme| me |)] 7.2 )[14.4
L-25.30
oo oo
[162.50
| (=)
S % 3
\&* ]
40 800
ﬁ < V‘?
S < 3 [149.00
w &
! 9100 ‘
000 |Doo (0o gooc
Uoo |ooo | w 9.4
U000 | 000 | w 9.1
ooco [1swvme| m [ 0.2[]] 0.4

=1:100
oo
cL
oo oo
00 62.50
o
i \o* e/
10 0
g ¢ ;
g S 049.00
9100
ooo |ooo |oo] ooo
ooo | ooo | m 9.4
FEEEREEEREE 9.1
0oco | 18N/mm2 | m2 i\ 0.2\5\ 0.4
R-26.27
0o oo
00 62.50
o
i o g
10 0
& V5
g © S [049.00
o Az
! 9100 ‘
0oo |ooo |oDo| ooao
000 | 000 | m2 9.4
FEEEREEEREE 9.1
ooco [swvmme| m2 [] 0.2[] 0.4

R-27.77
0o R-28.80 oo
[162.50
2400 4800
T (=)
o ¢ B
~ oM i
g = 2
S ‘© S
3 o) o
0 49.00
9100
000 |ooo oo Doad
D00 | 000 | m 65.4
oooo | ooo | w 9.1
ooco [1awvme| m [ 7.2] [14.4
R-29.05
oo 0o
[162.50
2061 4122
By )|
g e
N S
3 v o
= =) IS}
) ‘U) <
[149.85
8592 |
D00 |ooo |oo| Doag
000 | 000 | m 52.2
oooo | ogg | m | 8.6 00000|0000000000000000
ooco [1ewvme| m | [ 5.3[]10.6
ooooo 00000000()
Doooo|  1:100 ‘DDDD‘ 25
0000000000000




oo

R-30.30

oo

[162.50

Ooo0oooodde)

Q|
3
0|
™ v,
S
o w
[154.00
‘ 6100
noo |ooo (oo ooo
D00 |ooo [ m 39.4
D000 | 000 | m 6.1
ooco [1ewme| m |-[ 5.3 [10.6
R-30.43
0o R-31.30 0o
[ 62.50
2240 4480
8
8
ol v
g =
Q| o
0| -03
[154.00
‘ 6100
noo |ooo (oo ooo
D00 | 000 | m 43.6
ERIEEEE 6.1
ooco [1ewme| m |[ 6.3 125

gog
R-31.85
oo 0o
[62.50_
1502 3005
S = 8
o ©|
©| v, ™
2 = o
o) ) N‘
[155.84
4994
oo [ooo [0 o] ooo
oo | ooo [ m 2.0
nooo|ooo | m 5.0
ooco [1swvmme| me o] 2.8[] 5.6
R-32.65
oo 0o
[62.50_
9 o g
g = o [
g ° 2
o ~
[158.50
3400
oo [ooo [0 o] ooo
ooo | ooo [ m 10.0
nooo|ooo | m 3.4
poco [1swmme| me [f] 1.2[] 2.3

$=1:100
R-33.65
oo oo
1600 3000
062.50
[ I g . ™
g %\ 9 o 3
i o\ = N ~
[058.50
3400
0oo |ooo oo ooao
0oo | 0oo | m 18.4
0ooo | 0oo | m 3.4
Doco [1swvm2| m2 [] 3.2[] 6.4

goaad
L-34.35
L-34.06
2700
[0 65.00
g ”
Irel (=4 o
N ‘) ~
[0 62.50
a1
o ‘o
200 v
) \
ooo goo |0 O oo od
ooo ooo m2 4.9
oooo ooo m2 -
Ooco | 18N/mm2 | m2 4.9
R-35.10
R-35.50
2700
F—T [0 65.00
g o ®
0| o .Q
N ‘) ~
0 62.50
i
2l 0| %
<200 o
. \
ooo goo |0 O oo od
ooo ooo m2 4.9
oooo ooo m2 -
Ooco | 18N/mm2 | m2 4.9
go0oOo0o|ooooooobooooooooo
ooooo 00000000(E)
ooooo 1:100 ‘DDDD ‘ 2-6
Oooooooobooboodd




